T SP2822

SpP2822 (WALKMAN)
) (L.8v~12V)
) 1.8v
°
) (BTL)
Vce 6 \/
lo@ 1 A
Tamb=50 1
Po w
Tcase=50 1.4
T 150
Tstg -40~+150
1 OouT, 1
2 VCC
3 OuUT, 2
4 GND
5 IN2(, 2
6 I N2(+) 2
7 N1, 1
8 INy(, 1




. SP2822

\4/
( Vce=3V  Tamb=25 )
Vce 1.8 6
2.7
Vo
Vce=3V 1.2
Ig 100 nA
lcco 6 9 mA
Vcec=6V 20 120
xcc:4.5 60
R =32Q
Vce=3V 15 20
Vce=2V 5
f=1kHz
Po R .=16Q Vcec=6V 170 220 mw
) THD=10%
R, =8Q Vce=6V 300 380
Vcc=6V 450 650
R.=40 Vce=4.5 320
\Y
Vce=3V 110
RL=32Q Po=40mwW 0.2
THD | RL=16Q Po=75mW 0.2 %
RL=4Q Po=150mwW 0.2

Ave | f=1kHz 36 39 41 dB




Qs,-mwm SP2822

CB + dB
Z f=1kHz 100 kQ
B= A 2
B=22Hz-22KHz 25
Srip f=100Hz C1=C2=100u F 24 30 dB
CSR | f=1kHz 50 dB
BTL
Vcec 1.8 6 Vv
lcco | RL=w 6 9 mw
Voo | RL=8Q + 50 mvV
Is 100 nA
Vcec=6V 320 400
Vce=4.5V 200
R .=32Q
Vce=3V 50 65
Vcee=2V 8
Vce=9V 2000
R =16Q Vce=6V
f=1kHz
Po Vce=3V 120 mw
THD=10%
Vcec=6V 900 1350
R, =8Q Vce=4.5V 700
Vce=3V 220
Vcc=4.5V 1000
R =8Q Vce=3V 200 350
Vce=2V 80
THD | Po=0.5W, RL=8Q , f=1KHz 0.2 %
Avg | F=1kHz 39 dB




. — SP2822

Z F=1kHz 100 kQ
B= A 2.5
B=22Hz-22KHz 3
Srip | F=100Hz 40 dB
BWp | RL=8Q , Po=1W 120 kHz
1 SP2822
2 SP2822 100u F
Vecc=3V
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N 7 100p
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SP2822

3 SP2822

Vec=6V
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J3100 047y J:
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I X7 e 2200
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47n 0.220
33 13 13 15 14 6 47KQ (I)i1p 2
ha 4 If
TEA1330 47KQ
VCO
— 47KQ O'I1I“ s 8
22KQ 5 1f 100;T
7 10 1 8 16 12
+}J 1
L{ 270Q 680P 3.9KQ [3.9KQ 6
1y 15KQ Ton 15n 47KQ
I o | I InE
5KQ MONITOR




